(a+b)=a+2ab+b’
(a-b)=a2ab+b =




Question 1

Find the value of 5a - 3bwhena= 7and b=-2.

SCH)-3C-2)= 4]

Question 2

Make g the subject of the formula p = 24>.

1= £

1- [0

Question 3

Make a the subject of the formula.

x=.v+\/5

JZ: Ac.-s

Q= (9:-3)1
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Question 4

s = ut+ 16£

Find the value of s when = 2 and 7 = 3.

3= 2C3) + l6c3)?
= (50

Question 5
j =

P

Write x in terms of p, ¢ and y.
% = 8 P

x:ﬁ
1
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Question 6

Make p the subject of the formula.
p+5=3p+8r

PC&’*&) = 33,5

p= 82-5
¥-3
Question 7
Solve the equation.
6(p+1)=9
Y+l 3
(4
3
Jd= -1
y=d
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Question 8

Make x the subject of the formula.

y=ax*+b [3]
2 -
o’z Y=t
<~
X = [4=b
Q.
Question 9
Simplify.
1-2u+u+4 [2]

H-w
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Question 10

Make r the subject of this formula.

Question 11

Make x the subject of the formula.

y=2+/x-8

Y- 3:/ de—§

(th—iajzzr %¢— &
se = (4~2) 1§
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Question 12

2 a2
Y x2 7

Find the value of y when x = 6.

Give your answer as a mixed number in its simplest form.

2

-2 6
8= =" &
C 2

. 2 . 36
2% T =
:._L-|-lg

|

|
% ¢

N

Question 13

Make x the subject of the formula.
y=(x-4)7+6

g=6= (e-4)"

 =.[/Y-6 +4

% —4
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Question 1

_1
V=34h

(a) Find VwhenA=15and h=17. [1]

V=15xl6x:F
:,55

(b) Make 4 the subject of the formula. [2]

sV- Ah

h- 3V
(43

Question 2

Rearrange the formula to make x the subject. [2]
y=x>+4

Y- 42 e’

V=
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Question 3

(a) Expand and simplify (a + b)>.

Co+b) G+b)

= a’tab+tabth®

= a%+ 2ab+b?

(b) Find the value of a*>+ b*whena + b =6 and ab =7.

Question 4
A sphere has a volume of 80 cm?.

Calculate the radius of the sphere.
[The volume, V, of a sphere with radius ris V' = —;m' N
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Question 5

(a)

= .8
y \/ 8+ X

Find y when x = 2.
Give your answer correct to 4 decimal places.

Y = J?‘f%
= Jo

= 3.]623

(b) Rearrange  y=/8 +;4 to make x thesubject.

2
= 4
Y 8—\-3&

2
2. A
J-8=
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Question 6

Expand the brackets.

Question 7
Make y the subject of the formula.

(3]

"
A=mx* — y”

‘&j~“x A

2 ‘\‘\x-A

t~3

g = ﬁw—A

cQ
"
4
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Question 8

Find » when (5)°=125.

Question 9

Make w the subject of the formula.
=2 v
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Question 10

(a) Find 7'when g=9.8 and ¢ =2.

\-2‘&‘\‘ 3.5

(b) Make g the subject of the formula.

0

T -

£
(=3
g\= 8

h

T
2%

(&)
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Question 1

3
Calculate the radius of a sphere with volume 1260 cm .

4
[The volume, V, of a sphere with radius r is V' = 5 ]

%—‘R r2s 1260

3 3
Gy = (260 KZ

W = 445

v’ = qi\ﬁ
T2 4‘ 445/6 = 4 l
Question 2

Rearrange the formula ¢ = to make a the subject.

a-—

a-b: i

c
A
a= Z_4b

G+
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Question 3

Make x the subject of the formula. y =—§ +5

Question 4

Expand the brackets and simplify.

1
7 (6x=2) 362 1)

=3~ — 33‘1‘5
= 2
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Question 5

2
Make x the subject of = (x+3) .
5

59 =Cde+3)

'53 3(1,’5
e = oy =3

Question 6

Rearrange the formula J = mv — mu to make m the subject.

'.S'a ™ Cv—-c)
<)

\J — A

N = —
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Question 7

g_h
2

i

Find i in terms of g and /.

L
!
Ah

s ——

32—

3
A

Question 8
5d +4w
Make d the subject of the formula ¢ = " .

Qcew = 54 +4w
5d = 2 ce — 4w
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Question 9

Make x the subject of the formula.

Px.:x-kB ’D= l"\’_é_

Pac — 3¢ = X
xCP-—D-'-“ 3 P-—l ~ ?__
S = 2 -

P=1 | 0ea 3

Question 10

Expand and simplify 2(x — 3) - (2x— 3) -

3 C%—3)Cr%—3) — CA%—3)cax~3)
2 2 (3™ =32 «@ — C4d 62 —Gaeq)
= 2 (%™ éx %90 — (Ax 2 \25+q)
= 2" 22 +18— 41220
= q — 23‘2

(3]
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Question 1

r(y+2)
5

Make y the subject of the formula. 4 =

5A= ¥ (-fj"\‘Z)
5A _
S = Yte

3 = 5A —2

C—

¥

Question 2
Simplify 16 — 4(3x—2) .
6-ACdrx -2 C3x-2,
el — 4 C“xz— &3¢ — x4
6 — A Qoat- 123 440

= 16 — 36" +A€%~l6
= 48 X — 36 X,L
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Question 3

Rearrange the formula to make y the subject.

Question 4

. 2 2
(a) Factorise ax+ bx . [1]

XCa +b)

(b) Make x the subject of the formula . 5

ax+bx—d2=p. [2]
2e? Catb)—a = p®
x> Ca-+bo = P'z-l-d &

A ~+b

a+ b The Maths Society



Question 5

Two quantities ¢ and d are connected by the formula ¢ = 2d + 30.
Find ¢ when d =-100.

C=2C—OD+%30

= —130

Question 6 C&

The number of tennis balls (7) in the diagram is given by the formula

1
5= Bie+1),

where 7 is the number of rows.
The diagram above has 4 rows.
How many tennis balls will there be in a diagram with 20 rows?

Ts Jz. x 20 C20+1)
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Question 7

Make d the subject of the formula

,;3
-

" (3]

3

C-5= _d_

2
S
d = 3\[ Lc—
Question 8
Make c the subject of the formula

N3c=5=b. [3]

dc-H-= Bz
8¢ = bt5

C = b’:‘(' 5
)
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Question 9
Make d the subject of the formula

c=kd*+e.
R
C-C = ‘AJ/
33 c-€
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Question 1

Make x the subject of the formula.

P 3]
y’= 2’ )

a8
%2 y-—)

X = !’3%—1

Question 2
y=p+qr

(a) Find y when p=-5,¢=3 and r=-7. [2]
2
= 4

(b) Write p in terms of ¢, » and y. [2]
y-4v=p”
p= 87"
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Question 3

Make b the subject of the formula.
c= \m
caz ¢a+ bz
b 9; ba --0.?_

b- fc,ﬂab

iy pl 18 1 [2]
((12 —172)(a2+/72)
Yo .,V Y. Ve
a + o.”b"._o. b~

Question 4

Simplify the expression.

> Q——b
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Question 5

X+2

Rearrange the formula = to make x the subject.

x—-4

xd_‘%a X1
94'.3—-32.: 48"62—
v - = AS"(-Z

> = dy+2
S—]

Question 6

Make w the subject of the formula.

4 +w
w+3

cCw4d)=dtw

ceo +dc = A
Co> —es = 4 —3c
w (e~ td= 4—3c

tw -~ 4-~3c

_

(|

(4]

(4]
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Question 7

w=

8-
a

(@) Findwwhen L =8x10%and C=2x10",

Give your answer in standard form.

\

. G X0 X 25

| _
JTG: KD \z

A =

= ( = O. C6X \062 2'5{§

)
4% 0
(b) Rearrange the formula to make C the subject.
W = l

Lc
o=

L
C
SR

L”‘Z
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Question 8

ap =px tc

Write p in terms of a, ¢ and x.

O'P’P')c:. [
o Ca - =¢
C
P.‘:
33—
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Question 9

Rearrange the formula to make g the subject. [4]
[ = °
l~g

-Je| Mg

Question 10 3 = j 36 — |
%
()3 =1 /T

Write down the value ofx. [1]

(b) 5" = k.
Find 57*!, in terms of k.

(1]
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